SCSL_ICN2-SCSLIMN2 | EEiR Jimata TOHATSU

SCS[ISN2 BR4ERY - 24247,
s
N "X i T
L : A
5 o j - HE | &% | WEa
- > — S| BB ARRREIE
/ SI5C | B R NEERSUSXNT)IE
A A SUS304 T RAER(SUSKNTLE
EERE SUS304
Slw| 11
—g S R @BTERE
° ] oB NE
1 " 26 00
0 28~40 | 1993
- 850 +0.06
Lio +0.01
: Y
S45C
hE EERE SUS304 Bl L!|bp B2 4 wlx!lvla M
m o | EFE| @ | EE| m % | ER M: [P.C.D
SCSO0BCN2| . [SCSOGOBMNZ|  [SCS060BSN2| . | , | 8| 20 M3x05 | 12 [T |6 | 4|7 [M3x10
SCS0610CN2 SCS0610MN2 SCS06105N2 1020 M3x05 | 13 |1 |6 | 46 |Max10
SCS0808CN2 SCS0808MN2 SCS0808SN2 81 25 Max07 | 14 |15 |8 | 5|7 |M3x10
SCSOBL0CN2 |, [SCSOBIOMN2| ,  [SCSO8I0SN2| |, [ 10 | 25 [M4x07 | 18 [15 [§ | 59 |maxL2
SCS0812CN2 SCS0812MN2 SCS08125N2 12 | 28 [M5x0.8 | 18 |15 | 85 5110 |M5x16
SCS0815CN2 SCS0815MN2 SCS08I5SN2 15 | 30 M5%08 | 20 |15 | 95| 5 10 |M6x15
SCS1010CN2 SCS1010MN2 SCS10105N2 10 | 30 [M5%08 | 20 |15 |9 | 5 |11 |Max12
SCSI012CN2| ~ |scsiomMN2| ~ [scstomsNz| ~ | 10 [[12 | 30 [M5x08 | 20 |15 | 9 | 5 |11 |M5x16
SCS1015CN2 SCS1015MN2 SCS10155N2 15| 35 M6x1 | 24 |15 [10 | 6 |125|M6x18
SCS1210CN2 SCS1210MN2 SCS12105N2 10 | 30 M5%08 | 22 |15 |10 | 5 |11 |Max12
scsaeN2| ~ |scsiaMnz| o [scstaias2| ~ | 12 [12 | 30 [M5x08 | 22 |15 [10 | 5 |11 | M5x16
SCS1215CN2 SCS1215MN2 SCS12155N2 15 | 35 M6x1 | 24 |15 |11 | 6 |125 |M6x18
SCS1310CN2 A SCS1310MN2 A SCS1310SN2 A 13 10 | 30 [M4x0.7 | 22 |15 |10 5111 | M4x12
SCS1315CN2 SCS1315MN2 SCS13155N2 15 | 35 |M6X%1 24 |15 |11 6 |12.5 | M6x18
SCS1510CN2 SCSI510MN2 SCS15105N2 10 | 32 M4x07 | 23 |15 [11 | 6 |11 |mMax12
SCSISI2CN2| ~ |ScsisiMN2| ~ [scsisiasNz| ~ | 15 [ 12 | 35 [M5x08 | 26 |15 |12 | 6 |13 |M5x16
SCS1515CN2 SCSI515MN2 SCS15155N2 15| 40 [M6x1 | 28 |15 [13 | 8 [13 | M6x20
SCS1610CN2 SCS1610MN2 SCSI6105N2 10 | 35 M4x07 | 24 |15 |12 | 6 |13 |Max12
SCs16120N2 | ~ |scsienaMN2| o [scsielas2| - | 16 [ 12 | 35 [M5x08 | 26 |15 |12 | 6 |13 | M5x16
SCS1615CN2 SCSI615MN2 SCS16155N2 15 | 40 M6x1 | 28 |15 |13 | 8 |13 |M6x20
$CS20100N2 SCS2010MN2 SCS20105N2 10 | 40 M4x07 | 28 |15 |14 | 7 |15 |M4x16
SCS2012CN2| A [SCS2012MN2| A | SCS2012SN2| & 20 | 12 | 40 |M5x0.8 | 30 |15 |14 7 |15 | M5x16
SCS2015CN2 SCS2015MN2 SCS20155N2 15 | 45 M6x1 | 34 |15 |15 | 8 |15 |M6x20
SCSLCN2 |, [SCSSI2MN2| |, [SCSISIaSN2| | o | 12 | 45 [M5x08 | 36 |15 [17 | 7 |18 |M5x16
SCS2515CN2 SCS2515MN2 SCS25155N2 15 | 50 M6x1 | 38 |15 |18 | 10 |18 |M6x25
SCS3015CN2| | SCS3015MN2| ~ [SCS3015SN2| ~ | 30 | 15 | 55 [M6x1 | 44 | 15 |20 | 10 | - | M6x25
SCS3515CN2 |~ | SCS3515MN2| ~ | SCS35158N2| ~ | 35 | 15 | 60 [M6x1 | 48 |2 |23 | 12 | - | M6X25
SCS4018CN2 | ~ | SCSAOLSMN2| ~ |SCSA018SN2| ~ | 40 | 18 | 70 |M8x125| 56 |2 |26 | 13 | - | M8x30
SCS5022CN2| ~ | SCSH022MN2| ~ |SCS50225N2| ~ | 50 | 22 | 85 |M10x15 68 |3 |32 | 16 | — | M10x35
@ st
- FRLUMORS - SEREMT(P524) e & 8% | mi[16 X

SCS0608CN2



